This report contains the transfers results.

Contest Name

Ward 08 - Irvine East

Valid Votes

Positions to be Filled

Quota

4,025 3 1,007

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Marie BURNS	Scottish National Party (SNP)	1,470
Ross COLLINS	Scottish Green Party	171
Karin CRAIG	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	64
Barry Keith JACKSON	Scottish Liberal Democrats	106
Susan JOHNSON	Scottish National Party (SNP)	323
Nairn MCDONALD	Labour and Co-operative Party	1,096
Angela STEPHEN	Scottish Conservative and Unionist	795
	Total	4,025

Candidate Marie BURNS Elected with 1,470 votes, being in excess of the quota of 1,007 Candidate Nairn MCDONALD Elected with 1,096 votes, being in excess of the quota of 1,007

This report contains the transfers results.

Stage 2 - Surplus of Marie BURNS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross COLLINS	153	0.31496	48.18888
Transfer to Karin CRAIG	20	0.31496	6.29920
Transfer to Barry Keith JACKSON	18	0.31496	5.66928
Transfer to Susan JOHNSON	1,186	0.31496	373.54256
Transfer to Angela STEPHEN	9	0.31496	2.83464
No further preference	84	0.31496	26.45664
Not transferred due to rounding			0.00880
	Total		463.00000

This report contains the transfers results.

Stage 3 - Surplus of Nairn MCDONALD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross COLLINS	104	0.08120	8.44480
Transfer to Karin CRAIG	76	0.08120	6.17120
Transfer to Barry Keith JACKSON	231	0.08120	18.75720
Transfer to Susan JOHNSON	120	0.08120	9.74400
Transfer to Angela STEPHEN	255	0.08120	20.70600
No further preference	310	0.08120	25.17200
Not transferred due to rounding			0.00480
	Total		89.00000

This report contains the transfers results.

Stage 4 - Exclusion of Karin CRAIG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross COLLINS	10	1.00000	10.00000
Transfer to Barry Keith JACKSON	8	1.00000	8.00000
Transfer to Susan JOHNSON	8	1.00000	8.00000
Transfer to Angela STEPHEN	20	1.00000	20.00000
Transfer to Ross COLLINS	1	0.31496	0.31496
Transfer to Barry Keith JACKSON	1	0.31496	0.31496
Transfer to Susan JOHNSON	12	0.31496	3.77952
Transfer to Angela STEPHEN	1	0.31496	0.31496
Transfer to Ross COLLINS	14	0.08120	1.13680
Transfer to Barry Keith JACKSON	14	0.08120	1.13680
Transfer to Susan JOHNSON	6	0.08120	0.48720
Transfer to Angela STEPHEN	11	0.08120	0.89320
No further preference	18	1.00000	18.00000
No further preference	5	0.31496	1.57480
No further preference	31	0.08120	2.51720
Not transferred due to rounding			0.00000
	Total		76.47040

This report contains the transfers results.

Stage 5 - Exclusion of Barry Keith JACKSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross COLLINS	34	1.00000	34.00000
Transfer to Susan JOHNSON	7	1.00000	7.00000
Transfer to Angela STEPHEN	40	1.00000	40.00000
Transfer to Ross COLLINS	2	0.31496	0.62992
Transfer to Susan JOHNSON	10	0.31496	3.14960
Transfer to Angela STEPHEN	2	0.31496	0.62992
Transfer to Ross COLLINS	64	0.08120	5.19680
Transfer to Susan JOHNSON	20	0.08120	1.62400
Transfer to Angela STEPHEN	61	0.08120	4.95320
No further preference	33	1.00000	33.00000
No further preference	5	0.31496	1.57480
No further preference	100	0.08120	8.12000
Not transferred due to rounding			0.00000
	Total		139.87824

This report contains the transfers results.

Stage 6 - Exclusion of Ross COLLINS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Susan JOHNSON	106	1.00000	106.00000
Transfer to Angela STEPHEN	25	1.00000	25.00000
Transfer to Susan JOHNSON	107	0.31496	33.70072
Transfer to Angela STEPHEN	4	0.31496	1.25984
Transfer to Susan JOHNSON	49	0.08120	3.97880
Transfer to Angela STEPHEN	25	0.08120	2.03000
No further preference	84	1.00000	84.00000
No further preference	45	0.31496	14.17320
No further preference	108	0.08120	8.76960
Not transferred due to rounding			0.00000
	Total		278.91216

This report contains the transfers results.

Stage 7 - Exclusion of Susan JOHNSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Angela STEPHEN	106	1.00000	106.00000
Transfer to Angela STEPHEN	225	0.31496	70.86600
Transfer to Angela STEPHEN	82	0.08120	6.65840
No further preference	338	1.00000	338.00000
No further preference	1,090	0.31496	343.30640
No further preference	113	0.08120	9.17560
Not transferred due to rounding			0.00000
	Total		874.00640